[CIPRACTO

—

Instruction

(M6 screw and M8 washer)

—— () NIl
] H-—
1 | o u
x H—el| 0
i | HE—
= He—
> .

2. Assemble Left side plate & Right side plate

1. Assemble the mailbox through 7 screw

holes on each side of the Mailbox

(M6 screw M8 washer and M6 nutd

Side plate

Top plate

Back plate

Bottom plate

. Assemble Top plate & Bottom plateM6 screw ond M8 washer>
. Assemble Back plate (M3 screw
S. Assemble Poles in case of POLE INSTALLATION (M6 screw)
ond Fit the screws to the remaining screw holes
of each pole for decoration. (M6 screw)

» W

Remaining screw holes




